CENTRONIK

TOMA DE TIERRA
M6éx1p x 10 DE PROF.

70*
(2.76")
j N

||
A
©
~A
- ~Ql
= ok
©© —
a2 ENTRADAS DE
- CABLE
<
- o™
Al
O
T
TAPA DE RELOJERIA X ‘li\;'\
NS ) —
&% PLACA DE IDENTIFICACION B
BRIDA DE CONEXION

PARA SALIDA B
(FO7/FA07 AND F10/FA10)

8%

186
(7.32")

40
1.57")
NOTE:
1. GEAR BOX RATIO : 38:1
2. GEAR BOX BASEPLATE : F10/FA10, F12/FA12, F14/FA14 & F16/FA16.
3. DIMENSIONS WITH "' INDICATE COVER REMOVAL ALLOWANCE
4. THE INTERFACE PROVIDED FOR MOUNTING THE ACTUATOR OR SECOND STAGE

-

(19.59")
39 131
(1.53") ‘ (5.14")
TAPA DE CIERRE -
SALIDA EJE ,F ",
PEQUERO >
MOTOR 82
- ||
~ ——— .
a A %o
- <+<©
EMBRAGUE MANUAL oo
TAPON VACIADO A q.;'r\)
DE ACEITE S
Al+—
r“'l
- | ||
) [
a® i II A
o —
=l o
o mg
N |
TAPON LLENADO
Y DE ACEITE
MODULO DE
DESCONEXION N
- 100 367 37
DEL BUS = " " "
E\ll‘\". (3.94 )= (14.45") - (1.45")
~—O

PANTALLA DE VISUALIZACION

SELECTOR ABIERTO/
CERRADO

SELECTOR LOCAL/
STOP/REMOTO

[

99
(3.90")

DIAMETRO VOLANTE MANUAL

4

: _
(1.65") |

94
(3.72")

232
(9.13")

GEARBOX ONTO THE VALVE SHOULD CONFORM TO GOOD ENGINEERING PRACTICES, PARAMETER VALUE DESCRIPTION
ENSURING ADEQUATELY TOLERANCED LIMITS FOR PARALLELISM, PERPENDICULARITY
AND CONCENTRICITY. DRAWING TYPE A |INSTALLATION DRAWING
5. ROTORK CANNOT BE HELD LIABLE FOR DAMAGE TO OUR EQUIPMENT CAUSED BY EXCESSIVE ACTUATOR 4 |cK(R)C30/60
LOADING FROM COVER TUBES, HANDWHEEL AND HAND LEVER.
NOTA: GEARBOX1 A8 | AB8B8O
1. RELACION DE REDUCTOR : 38: 1
2. BRIDAS DE SALIDA REDUCTOR: F10/ FA10, F12/ FA12, F14/ FA14 y F16 / FA16. GEARBOX2 NO_[NOG.B2
3. COTAS CON "' INDICAN LA DISTANCIA PARA DESMONTAR LAS TAPAS CENTRONIK / TERMINAL D [CTK/DISC. MOD.
4. LA INTERFAZ PROPORCIONADA PARA MONTAR EL ACTUADOR O LA CAJA DE ENGRANAJES DE SEGUNDA ETAPA EN LA MECHANISM / MOTOR S | STDMECH/SMALL MOT.
VALVULA DEBERIA HACERSE CON BUENAS PRACTICAS DE INGENIERIA, ASEGURANDO LOS LIMITES TOLERADOS ADECUADAMENTE PARA
PARALELISMO, PERPENDICULARIDAD Y CONCENTRICIDAD. HANDWHEEL / REAR/FRONT| 0  |STD.H.W./STD.REAR/STD.FRNT.
5. ROTORK NO PUEDE SER RESPONSABLE POR DANOS A NUESTRO EQUIPO CAUSADOS POR CARGA EXCESIVA DE TUBOS DE CUBIERTA, VOLANTE DE
MANO Y PALANCA DE MANO. ORIENTATION 0 |STD. ORIENT.
-07- DIMENSIONAL DRAWING, CKC30/60 & CKRC30/60, AB880
@ | o |TAMIL 25-07-17 | , : ) Doc Number Ver No | Scale |Sheet No|
[N Title CENTRONIK DISCONNECT MODULE, SMALL MOTOR, A4
| Checked| BHARAT| 25-07-17 STANDARD ORIENTATION. 2 NTS 1 f 2
(E JOSE 25_07_1 7 This drawing and the information it contains are property of Rotork Controls Limited, and they will not be reproduced or disclosed, in I A4A8N0 DSOOS o
i whole or in part, without the prior written consent of Rotork.

CK-DS




CONDUIT ENTRY HOLE
Hole Metric NPT
A 4x M20 Ax %
B 2x M25 2X %"

27
06"

(1.81") (]

46

21
(0.81")

41
(1.61")

ENTRADAS DE CABLE

VER TABLA PARA DETALLES
DE AGUJ. Y CHAVETA

VER TABLA PARA DETALLES
DE LA BRIDA DE SALIDA

DETALLES DE LA BRIDA DE SALIDA
STANDARD DEL REDUCTOR AB880

oM
+
|
T
|
|

o |
‘ ‘ SALIDA CUADRADO
SALIDA ENCHAVETADA SALIDA E/C U
BASEPLATE DETAILS
TYPE BASEPLATE HOLE DETAILS (45° OFF CENTRES)
F10 4x M10 x 13 DEEP ON A @102P.C.
FA10 4x 3/8"UNC x 0.51" DEEP ON A @4"P.C.
F12 4x M12 x 16 DEEP ON A @125P.C.
FA12 4x 1/2"UNC x 0.63" DEEP ON A 4.95"P.C.
STANDARD
F14 4x M16 x 18 DEEP ON A @140P.C.
DIMENSIONS MAXIMUM (INSERTS) FA14 4x 5/8"UNG x 0.71" DEEP ON A @5.5'P.C.
TYPE oM ON (o] P 2Q R S F16 4x M20 x 18 DEEP ON A @165P.C.
ABSSOM | 60(2.36) | 44(1.73) | 50.6(1.99) | 12(0.47) | 48.2(1.90) | 36(1.42) | 36 (1.42) FA16 4x 3/4"UNC x 0.71" DEEP ON A 6.5'P.C.
o | TAMIL 250717 DIMENSIONAL DRAWING, CKC30/60 & CKRC30/60, AB88O,
o Title | CENTRONIK DISCONNEGT MODULE, SMALL MOTOR,  fA% Doc Number VerNo | Scale |Sheet No
| reced| BHARAT| 25-07-17 STANDARD ORIENTATION.
(E 7.4~ | This drawing and the information it contains are property of Rotork Controls Limited, and they will not be reproduced or disclosed, in A4A8NODSOOS 2 NTS 2 Of 2
i JOSE 25-07-17 whole or in part, without the prior written consent of Rotork.

CK-DS



